
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin Ether 2 DMX 8 

  

11501012 1.5 m power cable, 3-pin IEC 

05327241 5.08mm Vertical cable entry plug 4pole 

26620920 Ether2DMX8 19 Mounting Bracket 

11860346 Ether2DMX8 5V Distribution 

06252022 Ether2DMX8 CPU-Board 

06252024 Ether2DMX8 Display PCB 

11860315 Ether2DMX8 EtherUSB 

26642200 Ether2DMX8 Front Plate 

06252021 Ether2DMX8 Hub PCB 

11860313 Ether2DMX8 IIC Cable 

06252023 Ether2DMX8 Input PCB 

70758490 Ether2DMX8 License 

11860314 Ether2DMX8 USB Interconnect 

06252020 Ether2DMX8 USBDMX PCB 

11850134 Ether2DMX8 Wireset High Voltage 

11860312 Ether2DMX8 Wireset Low Voltage 

05247230 IEC Module In-Out Fuse 

08030502 M2,5x5 cs pz tapt shiny 

08030801 M2,5x6 cs torx tapt black 

08052701 M3 nut lock PA shiny 

08054401 M3 washer lock 3,2/6 black 

08053813 M3x15 stand off m6/f7 black 

08053802 M3x5 stand off m6/f2,5 shiny 

08050702 M3x6 ph torx black 

08051206 M3x8 ch allen black 

08073601 M4 riv nut cs spline 1-3 shiny 

08071208 M4x10 ch low allen A4 ds silver 

11501502 Mains cable 3x18AWG IEC-US, 3M Rev A and B 

06000006 Netfilter 115-250V 1A 

62014509 PCBA Ether2DMX8 FuseBoard 

34240000 Plast bag 55x65 

34240015 Plastic bag 500x600x0,02mm 

18620011 Plexi Window 70x20x3 

05150000 PSU 100-240VAC 25W 5V 

08200102 PT 2,9x6,5 ph torx black 

05523033 Rocker switch 2-pole protection 

13104000 Strap,black,high temp,2.5x98 

02000213 Toradex CPU Module 

13101008 Wire Retainer Flexible 

 



Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


